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661/Phil

If V be the set of all positive integers, and
A= the set of all even positive integers, B= the
set of all odd positive integers, then find the

- following:

T V 21 5T AL oot @A), G A= ANE

WL (ST SR (i, B= 37 e f[eeng

sy (A, ord e el 94 ¢
~(AUB)

Translate the following statements into

symbolic form following set notations given

below:

fAfRe wrefE fim owe @b Bl S

AR T SAFICH P 4 ¢

[ A= The set of all Americans

B= The set of all philosophers

" C= The set of all persons who drink coffee

M=The set of all persons who drink milk ]
i)  All Americans are philosophers.
e SRl = Wi |

ii) Some Americans drink both coffee and
milk.

%%%@%%%ﬂ@w@w%
| 3

[2]

3. Answer any two of the following questions:

10x2=20

@G 7o 2osa Ted WS ¢

a)

b)

661/Phil

Test the validity of the following arguments by

Venn diagrams:

ceqibcaa e el gfealr taet auq
9
i) AnBc~€
AuCcB-
L ANC=A
ii)  All liars are prejudiced.
Some witnesses are not liars.
~. Some witnesses Ed_soﬁ prejudiced.
] R 2 FoHives |
I I AR @ R
o CRIGE GRIT AP 3 PRI |

~ What are the Em&,omzom admitted by Aristotle?

Explain each of them.

55 Trpe st F1 9 2 efeba it e
Cr _

hw_ [Turn Q:mi.
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k) What is the distinction between Words and 1 b)

Terms? ;
@ A7 Sy ALy e _ -

1)~ Show the Tree of Porphyry.
oA ore |

m) Give an 9@56_@‘& Emcwmmé Umm:m_ao:.

iRl WIS TR G0 Snizge 7S |

n)  What is fundamentum divisionis? c)
RretearEs I fofe e e

0) %oﬁ the following division:
ffiie Rerei A5 5 3

Books into cheap, historical, fictional and
English. .

<ee e, AR, TET @ 2adl— Reice
e w4l
2. Answer any four of the following acomaoan
5x4=20

@-FIE 1S eoaw Ted wie ¢

a) - Prove the validity of the following principles:
frfore Famef el omid 4 ¢
i) >z~>)wvn>zw
ii) (AUB)~B=A~B

661/Phil . _ [4] , 661/Phil

Are the following assumptions mutually

consistent?
frsfafe Fgfoaf [ A oo
C#A
ANB#A
ANC=A
(AUB)~C=A
i)  Explain the following rule of definition:
Tl AR Aelw e
grt 9 ¢ ‘
A definition must be per genus et
differentiam.
N A G, TG (167 TP IRSRIE
o1 I @ R S LR S |

ii)  State what is wrong with the following
definition: ,
iR kel @ oY, o Ry 33 3
A cause is that which produces an effect.

199 221 ©F T PRI Gest |

[5] [Turn Over]



